QUALITY DERIVE ﬂl//‘
FROM SANKAI
REPUTATION COME ALONG 5”%‘52';“”5

BER=20OMRBMR

=Y A B A5

DIREGTIONS FOR USE

{iEFAPR| / INSTALLATION

NMRVEF|Z&ERS 7T / NMRV INSTALLATION USAGE & MAINTENANCE
UDLEIZS&(ERS A7 / UDL INSTALLATION USAGE & MAINTENANCE
JEi8H / LUBRICATION

1TE/7% / NOTICE FOR ORDERING

FREBHANYSERT / STANDARD MOTOR EXTERNAL REFERENCE DIMENSION

AEBEMSMRITWRSHLE 136 8175 4481 (BfEF ) 021-61994856 QQ
1193288515

{SEFEFRE &I / INSTALLATION

RERE=E1 OEMX%K WWW.SUNCARVE.COM



BEFFEENSHES ERIEBIRFHCREN , MBE—HIARLBAED. NFHMFTRGUHBANEE
ESETEREPENSY. SBITIHAERE  IRLEESRIIEARSARKER.

@ HRE HIREERT.

@ RIFTEMRIEAFBIARNRE LAY,

G RIFRFENFHIEY ( BESMER ) .
@ HREN PSR E T RSB EE ISR B Ea.
6 HFEN LIS EESIRE.

® TIENRRERT - 5°CamT40°Chd,
@) FEHE IR S PERT.

© EEMER P ER,

© FEiEsHERAOFRE P AR,

O MRS FEAEIES ASED TERA.
1) RS AAEX AR REIRER.

B GRIEN 50 B &R KB iR A .
IR FSZ I RA R HIHE B AT S MERTIIENIESEHE ( SERSMfs= 1R )  XBHEXA
BIRERISREARZRETERENTH  SHIESRED. NE, RaEE MR ERET.

CRITICAL APPLICATIONS

The performance given in the catalogue corre-spong to mounting position B3 or similar, it means the first stage is
not entirely immersed in oil. For other mounting positions and particular input speeds, refer to the tables that
highlight different critical situations for each size of reduction unit.When face with the following application, please
contact our technical service if nelessary.

(D As a speed increasing.

(2) Applications with especially high inertia.

() Use as a lifting winch. (Think about irreversibility)

(#) Use in services that could be hazarodous for people if the reduction unit fails.
(5) Applications with high dynamic strain on the case of the reduction unit.
(6) In places with a temperatures T under-5°C or over 40°C.

@ Usein chemically aggressive environments.

(8) Use in a salty environments.

(©) Use in radioactive environments.

Use in environments pressures other than atmospheric pressure.

() Mounting positions not envisaged in the catalogue.

Avoid applications where even partial immersion of the reduction unit is required.

The maximum toreque that the gear reducer can support must not exceed two times the norminal torque(fs=1)
stated in the performance tables. Intended for momentary overloads due to starting at full load, braking, shocks
or orther causes, particularly those that are dynamic.

AEBEMNMRITWRSHEE 136 8175 4481 (BfEF ) 021-61994856 QQ
1193288515

NMRVZEFIZ3=E R S5175 / NMRV INSTALLATION USAGE & MAINTENANCE

BER=21 OBBX WWW.SUNCARVE.COM



TRORIE AN TR T LRI
O FERNSHNIREEL R , ERERIEY | HiRREsE 5 R E S E.

@ FERNSFE. RERLCA  NITESHE. 2. BNRENRERT  BREETR. TRRERHE
HiERE.

Q) FERFEEMREEIMIRE L |, BRaRahaika.
@ RelgeitigieimiEt | R EER A M TR R+,

© WRAETFHEEKES - 608 , MEERHESRINEERET , TresEOSMNER L  BELET
B ATESRAMERME ORI TR | LU,

® FrERBHESIL G SEmE.

@ SREAYOMBCSERRS , e EECA IR DEigim , LIG-RItEE.
EFRRLIISERY ( AMASRFLEETHRE |, I\BSRIRE )

© (EFHRENR  FRERAHEs , MZFFg R,

(EFRS R KB RERRN , HRIERRA , MRSHFEE.

@ HREREEALXUSHEAE RIFANBNIRE | LASRNEIARER.

©Q FENAGRETERRRER - 5°CE40°C , MRAECEER , BERIMARS ARBKER.

To install the reduction unit is necessary to note the following recommendations:
(D Check the correct direction of the reduction unit output shaft before fitting the unit to the machine.

(2) Before mount with the prime mover and device, please check the reducer’ s every axial diameter, aperture, key and key
slot, to be sure their dimension are not deviation, and avoid assembling too tight or too loose, unless it will influence the
reducer’ s performance.

(3) The mouting on the machine must be stable to avoid any vibration .
(4) Whenever possible, protect the reduction unit against solar radiation and bad weather.

(5) In the case of particularly lengthy periods of storage(4-6 months), if the oil seal is not immersed in the lubricant inside the
unit, it is recommended to change it since the rubber could stick to the shaft or may even have lost the elasticity it needs
to function properly.

(&) Painting must definitely not go over rubber parts and the holes on the breather plugs, if any .
(7) When connect with hollow or solid shaft, please grease the joint to avoid lock or oxidation.
Check the correct level of the lubricant through the indicator, if there is one.

(@ Starting must take place gradually, without immediately applying the maxium load.

Supporting unit is required when using various of reducer matched with motor directiy and the good passage of the air
from the fan side.

(1) Ensure good ventilation environment near the motor fan, lest affect the cooling effect..

(12 In the case of ambient temperatures <-5°C or >+40°C call the Technical Service.

AEBESMRITWRSHE 136 8175 4481 (BfEF ) 021-61994856 QQ
1193288515

UDLEFZ 2= AS175F / UDL INSTALLATION USAGE & MAINTENANCE

BEIR=21 OREME WWW.SUNCARVE.COM



@ e BARRER | & (EERA0E) GB1569-1990i%E , fEREER (EiET#) GB1095 - 2003iE7E.
@ BRmSS-SEEAIHIEZRT N (EHERIFRID | RIRRERN AT AR THREE.

@ WHhAECR AR | FRIRILEN | BN |, TR |

@ TR ER T EAT IR R P EERERT S,

G WEMNIEEERT , RS EEETFe |

® BER TRRRESERMIETTEE%ELT | 528 !

@ FNAETFESTA0CHIRES | BFAEETA5C. XTAHREAE FHANE

ATIRAERAAIREE AT , WEMHERS ( 2FiEH ) FHh , BEESTIER TEIEMEERELA40 - 50°C, i
560 - 80/\EffE | IBFHEAT T | IERESTHMREER20°C , FRFIENET , BENSOEFRINES
RIFTIFRM | (EXEMHRIERE R HITE ERM.

® TEERFITEEEATE, IDBERSHUb-3x , ERATERERL
© HETEBEHEIA | EER 1000/ EREIITE , LUSSRE5000/NHE— /K,

TERBAEEHNRIFTETN =02 —8E . BRFNSERERUSE  mREEEFRABR TEA. #
{ER LRESIRFH AN LRETRHCIER  ERAITAF , FERNTER !

(1) The shapes of shaft extension are all cylindrical. It is subject to GB1569-1990 Cylindrical shaft extension. The key joint refers
to GB1095-2003 Ordinary flat key.

(2) The shaft lines should be kept concentric when the coupling is connected with a motor. The installation error should be no
more than the tolerance value of coupling.

() When the output shaft is installed with the coupling or belt wheel, they should ba pressed into the screw hole on shaft end.
Or assembled by heating. No hammering on it!

(4) The mechanical stepless variator is not used in such an occasion wheel overload or running-blockage happen to occur.
(5) Speed-regulation should be effected in running. Do not turn the hand whel of speed-regulation when the machine stops!
(6) The limit screws of speed-regulation on two ends under the operating box are well adjusted, Please don’ t touch them!

(7) This set is not suited to work in the environment over 40°C,especially no more than 45°C when the temperature rises. In
regared to its temperature rise. In regard to its temperature rise please read the explanation as follows:

If a 4-pole motor is used for the speed variator, the temperature under running-in(empty running) is 40-50°C higher than
that of normal working environment.. After running-in up to 60-80hours,the temperature rise will go down gradually. From
that time on, it is 20°C higher than of environment, and the temperature will keep on rising stably. The high temperature rise
in running will affect normal permis-sive working condition, but it won' t bring any bad effects to the service life of parts.

The liquid lubricating oil is used for the speed variator. Its trade mark is Ub-3x. Please check up the oil level before use.

(©) The machine is filled with lubricating oil before leaving factory. When it starts to work up to 2000 hours for the first time, its
lubricating oil should be replaced, changing the lubricating oil every 5000 hours later.

The lubricating oil level inside the speed variator should be kept at the height of two-third in the oil scale.Users should
usually check the height of oillevel. It is strictly prohibited to operate it when short of lubricating oil. The air screw nut on the
operating box is screwed up for preventing from oil leakage in moving before leaving factory. It should ba loosed when it
starts to run. It is strictly forbidden to use it before loosing!

AEBESMRITWRSHE 136 8175 4481 (BfEF ) 021-61994856 QQ
1193288515



i[HiE7H / LUBRICATION

BER=E] OFBEMAR WWWSUNCARVE.COM

TEREREFERPEEA , HSRINERESARBRER,

HTYERRIRET - 30°CEimT60°Cat , EfEMARTRRRTHE.
LHTIFMNERE{RTOCR , /REETFIER :

(D) 1 FRHYEBHLL/RTE(RIE TFHEIER TIF,

@ WNWEENAERNHREFEE  ERE - 15°CLUTH |, FBraTERE , EXESEafEE.

(3) TEFHAERMERRT , MTERHIKERS | TRESFE—LE , FLRFFEE ST L ESHIEE Lo . BE
IEFEALI10.000/N 5 , RIEIRER | MRS RiE SEmE TSR0 T ER RSO RE.

® NMRVO025, 030, 040, 050, 063. 075. O9OHUSAURMEAIEH FRIEINETIRIEH , TLUEREARD RS FHRERINA %
%, VSERVeZLEN , IBSHRIIAIRS ARKER.

® JEIEHINMRV110, 130F01504UETEH FTEME TH 45i@iHH ( SHELL Omala OIL 460 ) ,
© TRENEEEH ATEILE T T YIS (STHUb-3x ) .

© FEINMRV110, 130F01504UEMZEEA I FEETERRE | BNSEHEREB35 R E.
® NMRVEFIRIREN , FEFFEOTERE , FECHESIA ( BIiEEs ) .

® PCEINETMARNSAHEERM ( SHELL TEVELA OIL 320 ) , FEAERR LS 7511,

In cases of ambient temperature not envisaged in the table, call our Technical Service.
In the case of temperature -30°C or over 60°C. It is necessary to use oil seals with special material.

For operating ranges with temperatures under 0°C. It is necessary to consider the following.

(D) The motors need to be suitable for operation at the envisaged ambient temperature.

(2) In the case of reduction units with a cast-iron case, pay attention to impact loads since cast iron may have problems of
fragility at temperatures under-15°C.

(3) During the early stages of service, problems of lubrication may arise due to the high level of viscosity taken on by the oil and
s0 it is wise to have a faw minutes of rotation under no load.

The oil needs to be changed after approximately 10.000 hours. This period depends on the type of service and the
environment where the reduction unit works.

® The reduction units size NMRV025, 030, 040. 050, 063. 075, 090 are supplied complete with lubricant, and can therefore

be mounted in any position envisaged in the catalogue. V5/V6 for which you should call our Technical Service to assess the
conditions of use.

The reduction units size 110 an 130 are supplied complete wich lubricant, mineral oil,(SHELL TEVELA OIL 320)
The variator speed are supplied complete with lubricant, mineral oil(GUANGYAN Ub-3x)

For sizes 110 and 130 it is necessary to specify the position, otherwise the reduction units are supplied with the quantity of
oil relating to pos. B3.

NMRYV series worm gearbox should mount breather plug (optional parts) under special working condition.

PC Is supplied complete with lift-long lubricant, synthetic oil (SHELL TEVELA QIL 320), and can therefore be mounted in all
the positions.

ji#igi#k Az / LUBRICANTS OIL SHOSEN TABLE

€ [Ty 1ISO SHELL AGIP ESSO MOBIL | CASTROL BP I #
T-50 o 50 +100
NMRV025~090 VG320 Tivela Telium §250 Glygoyle | Alphasyn | Energol F=jowi]
PC063~090 OlIL 8320 | VSF320 30 Pg320 | SG-XP320 Synthetic oil
Omala Blasia Spartan | Mobilgear | Alpha MAX | Energol
VG480 | oii4e0 | 460 Ep460 634 460 | GR-xP4ga| CKEA60 )
NMRV110~150 kil
VG220 Omala Blasia Spartan | Mobilgear | Alpha MAX | Energol
0IL220 220 Ep220 630 220 | GR-XP220
| | !
ubL Vg32 | A.TF.DXRON|A.TF.DXRON|ATF.DXRON| A.T.F.220 | TQ.DXRONT | Autran DX | Ub-3x Mgggﬁ“
|

AEBEYSMRITWRSHLE 136 8175 4481 (BfEF ) 021-61994856 QQ
1193288515

e ENiER / LUBRICANT FILL QUANTITY

BER=E OFBME WWWSUNCARVE.COM



FEENINERASEE  ERENEHSEiNRELER.

The fill quantity in the table is referenced, the exact value velating to the ratio and mounting positions.

-—-___\_77-‘ T
-
- REIR B3 B8 B6. 87 V5. V6
ne —
\-\"— 1
NMRV025 0.02
NMRV030 0.042
NMRV040 0.081
NMRVO50 0.153
NMRVO63 0.30
NMRV075 0.58
NMRV090 1.02
NMRV110 3.02 2.25 | 2.55 3.02
NMRV130 4.55 335 | 3.55 4.55
NMRV150 7 5.1 I 5.4 5.4
PCO63 0.05
PCO71 0.07
PCOBO 0.15
PCO30 0.16
o
T -
_— ‘—-\,\ffﬁi‘i Ba. B5 V3. V6 V1, V5
"
|
UDL002 0.13 0.15
UDL005 0.23 0.33
uUDLO10 033 ‘ 0.43 06
UD020 0.8 1
UDO30S/L 1.2 1.2

1] 637040 / NOTICE FOR ORDERING

(D ITHATSREERARENRETE |, GHE , Skl WRss RIE EMMESNE  SEEENE SRS
R ( TRERESERIIERE , —REAEEMN ) . ITEMREENRRS NN STRG N ARERIEMRN , Bk
%S , B frsIR BRI,

@ ITHETERBEEARRNIRTR | B E R A R BB IR,

(D) Please refer to the sheet of performance parameter , NMRV series dimensions, Mounting and operation positions
diagram, make reasonable choice of model, and write down model mark to your required revolution scope, output
torque and structural from on ordering(when ordering, you should show whether the reducers are equipped with

motors, otherwise reducers aren’ t with motors)

(@) Please make the best choice of standard products in this catalogue, and give an additional explanation for your special
requirement and motors.

L EEHYMRITHRE L 136 8175 4481 (=) 021-61994856 QQ

1193288515



TVERNIMEZEE R~ / STANDARD MOTOR EXTERNAL REFERENCE DIMENSION

WWW.SUNCARVE.COM

B5HIPLAE %4 AL(B5S MOUNTING POSITION)

B4k E Motor power ShEUR ST AR i R~
NES 2p ‘ 4P | 6P Forfilomtry Mounted size Shaft extension
Frame size BT
Motor poles { KW ) AC AD L P N T M S B E F D G | m
56 ] a8 113 | 96 | 199 | 120 | 80 100 | 7(n=4) 20 3 9 7.2
0.18 012 00a 3.0 Maxi2
63 %38 FRE 5% | 120 | 102 | 217 | 140 | 95 115 —_ 23 4 11 | 85
n= T
71 5 o s | 136 | 109 | 245 | 160 | 110 130 30 5 14 11 | M5X12
80 QI8 058 v | 155 | 124 | 287 e 40 6 19 | 155 | M6X16
905 15 1.1 0.75 310 | 200 | 130 ’ 165 |12(n=4)
175 | 187 50 24 | 20 | M8X19
9oL 22 15 1.1 335
. 45° 8 -
100L a = 15 195 | 151 | 383
- 250 | 180 215 60 28 | 24 |M10X22
112M 4 4.0 2.2 219 | 169 | 401 1
55 4.0 15(n=4)
1325 22 55 a0 475
- o 258 | 188 300 | 230 265 80 10 38 | 33 |Mmi2x28
132M 7.5 0 513 |
160M il 11 7.5 609
315 350 | 250 | 5.0 | 300 |19(n=4) 110 | 12 42 | 37 | M16X36
160L 185 15 1 653 |

B14XI LM 23 K (B14 MOUNTING POSITION)

B ALERE Motor power SABIR T R [ Gk R~
HES 2p ‘ 4P ‘ 6P Forfilomtry Mounted size Shaft extension
Frame size S T
Moter Deiae | KW ) AC| AD| L P N T M s B| E F D G m
56 Bn oo 113 | @6 | 199 | 80 50 65 20 3 9 1
or o 0.08 M5(n=4) M4X12
63 g1 [3E 9% | 120| 102| 217| 90 | 60 | 25 | 75 | 23 4 1 | 85
71 e oab 52 | 136 | 109 | 245 | 105| 70 85 — 30 5 14 11 |M5X12
- n= I
80 [Ef] 0se 537 | 155 | 124 | 287 | 120 | 80 100 | 40 6 19 | 15.5 |M6X16
908 1.5 11 0.75 310 3.0
175 | 137 ——— 140 | 95 115 50 24 20 |M8X19
90L 22 15 1.1 335
27 M8(n=4) | 45° 8
100L 3 2z 15 195 | 151 | 383
: 160 | 110 130 60 28 24 |Mi0X22
112M 4 40 2.2 219 | 169 | 401
55 3.5
1328 22 55 3.0 475
S R~ +—5—1 258 | 188 —— 200 | 130 165 |M10(n=4) 80 10 38 33 |Mi2x28
132M 75 o0 513
160M 13 n 7.5 609
315 | 242 250 | 180 | 4.0 | 215 |[M12(n=4) 10 | 12 42 37 |M16X36
160L 18.5 15 1 653




